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1 (1) f(z,y) =€ 00000 falz,y), fy(z,9) 000 fay(z,y) 00000
(2) y?=sin(zy) 00000000000 <g,1)DDDDDDDDDDD
(3) 00 z=222+32y—4?000 (1,24 000000000000

2. (1) f(z,y)=222-32zy—y*00000000

(2) 000 D= {(z,y) |322+42<1}000000 f(z,y)=22+2y0000000000
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3. U0nooaoooon

(1) //Dmdxdy, DZ{(ZE,y)|O§ZE§2’1§y§2}

(2) //(m—i—Qy)dmdy, D:y=2%y=2-2000y000000000000010000
D
0oo

3) //Dddy D={(wy) |2+’ <1, y2 )

V2 — 22 — 2
4.20000 S1:224+y2+22=4,8:22+y?+(»—2)?2=400000000000000
(1) 40 S0000000000000000

(2) s;0000 S;000000000DOOO0OO0OOO0



